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1 For a curve 𝑦 = 𝑓(𝑥), describe the following transformations:

1(a) 𝑓(𝑥 − 1)

[1 mark]

1(b) 𝑓 𝑥 + 7

[1 mark]

1(c) 𝑓 𝑥 + 5

[1 mark]

Turn over for next question

Turn over ►
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2 The graph of 𝑦 = 𝑓(𝑥) has been drawn below. 

On the same axes, draw the graphs of the following, labelling them A,B and C 

respectively. 

𝑓(𝑥) + 2

𝑓(𝑥 − 3)

𝑓(𝑥 + 1) − 1

[4 marks]

Turn over ►
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3 The graph of 𝑦 = 𝑓(𝑥) has been drawn below. On the same axes, draw the graphs of

the following, labelling them A,B and C respectively. 

𝑓(−𝑥)

−𝑓(𝑥)

𝑓(𝑥 − 2)

[3 marks]

Turn over ►
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4 The graph of 𝑦 = 𝑓(𝑥) has been drawn below.

4(a) Write down the new co-ordinates of the points A, B, under the following 

transformations:

−𝑓(𝑥)

[3 marks]

𝐴 = 

𝐵 =

4(b) 𝑓(𝑥 − 3)

[3 marks]

𝐴 = 

𝐵 =

Turn over for next question

Turn over ►
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5(a) The graph of 𝑦 = 𝑓(𝑥) has been drawn below. One the same axes, draw the graphs 

of:

𝑓(𝑥 + 3)

𝑓(𝑥) − 3

Label the two graphs A and B respectively 

[4 marks]

5(b) What transformation(s) need to be made to transform A into B?

[2 marks]

Answer

Turn over for next question

Turn over ►
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6 The three graphs marked on the axes below are all transformations of 𝑦 = 𝑓(𝑥)

Determine the transformations that have taken place to transform 𝑦 = 𝑓(𝑥)into the 

following 

6(a) 𝑦 = 𝑓(𝑥) into 𝐴

[1 mark]

Answer

6(b) 𝑦 = 𝑓(𝑥) into 𝐵

[1 mark]

Answer

End of Questions

END
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